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	Reason for change:
	Number of K1 values (timing for given PDSCH to the DL ACK) should be at most 8 according to TS38.331 (dl-DataToUL-ACK). However the current DL RMC for SCS=60kHz configures 14 K1 values. 

	
	

	Summary of change:
	Transmit HARQ-ACK in UL slots 15 to 19 as follows:

- No DL scheduling in DL slots 0 and 1 according to the existing DL RMC for SCS 60KHz

- HARQ-ACK for DL scheduling in slots 2 to 9 are scheduled in slot 15

- HARQ-ACK for DL scheduling in slot 10 is scheduled in slot 16

- HARQ-ACK for DL scheduling in slot 11 is scheduled in slot 17

- HARQ-ACK for DL scheduling in slot 12 is scheduled in slot 18

- HARQ-ACK for DL scheduling in slot 13 is scheduled in slot 19 

With this configuration, the number of K1 values is 8 (6, 7, 8, 9, 10, 11, 12, 13). 

This configuration assumes UL assingment for slots 16 to 19 are signaled in DL slots 10 to 13, respectively (K2=6)
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	Consequences if not approved:
	It is impossible to configure DL RMC for SCS=60kHz.

	
	

	Clauses affected:
	A.3.3.1

	
	

	
	Y
	N
	
	

	Other specs
	
	
	 Other core specifications

	TS/TR ... CR ... 

	affected:
	
	
	 Test specifications
	TS/TR ... CR ...

	(show related CRs)
	
	
	 O&M Specifications
	TS/TR ... CR ... 

	
	

	Other comments:
	This CR is dependent on the same CR in RAN4 R4-1901273
This is the final outcome of R5-191541 and the result of 1 revision. 


----------------------------------------------------- Beginning of Change ------------------------------------------------------------
A.3.3
DL reference measurement channels for TDD

A.3.3.1
General

Table A.3.3.1-1: Additional reference channels parameters for TDD
	Parameter
	Value

	
	SCS 15 kHz (µ=0)
	SCS 30 kHz (µ=1)
	SCS 60 kHz (µ=2)

	UL-DL configuration
	referenceSubcarrierSpacing
	15 kHz
	30 kHz
	60 kHz

	
	dl-UL-TransmissionPeriodicity
	5 ms
	5 ms
	5 ms

	
	nrofDownlinkSlots
	3
	7
	14

	
	nrofDownlinkSymbols
	10
	6
	12

	
	nrofUplinkSlot
	1
	2
	4

	
	nrofUplinkSymbols
	2
	4
	8

	Number of HARQ Processes
	8
	8
	16

	K1 value
	K1 = 4 if mod(i,5) = 0
K1 =3 if mod(i,5) = 1
K1 =2 if mod(i,5) = 2
where i is slot index per frame; i = {0,…,9}
	K1 =8 if mod(i,10) = 0
K1 =7 if mod(i,10) = 1
K1 =6 if mod(i,10) = 2
K1 =5 if mod(i,10) = 3
K1 =4 if mod(i,10) = 4
K1 =3 if mod(i,10) = 5
K1 =2 if mod(i,10) = 6
where i is slot index per frame; i = {0,…,19}
	
K1 = 13 if mod(i,20) = 2
K1 = 12 if mod(i,20) = 3
K1 = 11 if mod(i,20) = 4
K1 = 10 if mod(i,20) = 5
K1 = 9 if mod(i,20) = 6
K1 = 8 if mod(i,20) = 7
K1 = 7 if mod(i,20) = 8
K1 = 6 if mod(i,20) = 9
K1 = 6 if mod(i,20) = 10
K1 = 6 if mod(i,20) = 11
K1 = 6 if mod(i,20) = 12
K1 = 6 if mod(i,20) = 13
where i is slot index per frame; i = {0,…,39}


------------------------------------------------------------- End of change ------------------------------------------------------------
